PFC CCM Synchro 2-Phase Vin=200V Iin=5A

ROHIM

SEMICONDUCTOR

Input :
Vin=200Vac Iin=5Aac
fps=50HZ

Output : Vo=500Vdc
Gate Drive : Vd=10V
R source=5Q

R sink=2Q

Q1,Q2,Q3,Q4 : R6030MNX
MOSFET (600V 30A)

L1,L2:1mH L3 :100uH

C1:100nF

Tj : 100°C
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PFC Continuous Current Mode Synchro 2-Phase
Vin=200V Iin=5A Simulation Circuit
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Simulation Waveform 1

ROHIM

SEMICONDUCTOR

IL1, IL2, Iin

Pin=1kW Vo=500Vdc

Expansion (5.00~5.03ms)

Expansion (8.00~8.03ms)
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Simulation Waveform 2 ROHM
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Efficiency, Power Dissipation 1
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Pin=1kW Vo=500Vdc
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Efficiency (%)

Power Dissipation (W)

Pin : 400W~1kW

Vin=200Vac Vo=500Vdc
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Efficiency, Power Dissipation

2

Vo : 300Vdc~500Vdc
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Tj : —25°CN125°C Vin=200Vac Iin=5Aac
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